6160 Agrotron ->WSXU190200LD10001

Section: A0 - TRACTOR Ref: A0.00.0 (1)
AIR BRAKING KIT - EXPORT - KIT -9.U1189.93.0

Fig. P/n QTY Name

Notes:

[6160 Agrotron ->WSXU190200LD10001]

0 9.U1189.93.0 1 aftermarket kit
1 0.018.5292.3/30 1 bracket
2 2.1310.006.2 4 flat washer 10.5x21
3 2.0112.315.2 2 screw m 10 p.1.5 x 40
4 2.1310.002.2 6 flat washer 6.4x12.5
5 2.0112.011.2 1 screw m 6 p.1x30
6 2.0112.009.2 3 screw m 6 p.1 x 25
7 04419935 1 valve
&= 04419935
8 0.018.5289.3 1 bracket
9 2.1310.004.2 2 flat washer 8.4x17
10 2.1011.105.2 2 nutm 8 p.1.25
11 2.0112.221.2 2 screw m 8 p.1.25 x 60
12 2.1539.265.0 1 oil seal 14x2.5
13 2.1019.179.2 1 special nut
14 2.3249.620.0 1 pipe fitting
15 04400542 1 pipe fitting
16 0.011.9428.0 1 pressure switch
17 2.3249.707.0 2 pipe fitting L
18 2.3249.707.0 2 pipe fitting L
19 2.3249.619.0 6 connector L
20 2.3249.672.0 2 plug NG12
21 2.3249.622.0 1 pipe fitting L
22 0.019.5059.2 1 lever
23 2.1630.617.2 1 pin 6x50
25 0.019.0145.4/20 1 rod
E\ &—29 26 0.018.8638.3 1 tube
32 30 27 0.018.8620.3/20 1 tube
28 2.1475.001.7 2 washer 6.4x12
29 2.3321.004.0 1 terminal @ 8/8
30 2.1011.103.2 3 nutm 6 p.1
31 04454609 1 terminal @ 18
32 2.0112.020.2 1 screw m 6 p.1 x 55
33 2.3321.002.0 1 terminal @ 6.35
34 01141501 1 clamp @ 6



—

Section: A0 - TRACTOR

6160 Agrotron ->WSXU190200LD10001

Ref: 04419935

TRAILER BRAKE VALVE

Fig. P/n QTY Name

1 04419935 1 valve

2 0.900.0136.2 1 accessories

1/1



K9_U1526_00_0-B-001

6160 Agrotron ->WSXU190200LD10001

Section: A0 - TRACTOR Ref: A0.03.0 (1)
LUBRICANTS AND SEALANTS

Fig. P/n QTY Name

Notes:

[6160 Agrotron ->WSXU190200LD10001] 50744 <- - 40 Km/h [6160 Agrotron ->WSXU190200LD10001] 50169 <-

6 01016130 0.01 sealing compound AS 450

1/1



6160 Agrotron ->WSXU190200LD10001

Section: A0 - TRACTOR Ref: A0.03.1 (1)
LUBRICANTS AND SEALANTS

Fig. P/n QTY Name

Notes:

[6160 Agrotron ->WSXU190200LD10001]

16 01016112 1 adhesive H 699 - DEUTZ DW 59
22 3.1399.012.0 1 grease

A

-'}\\t,

o

e

K9_U1552_01_0-B-001



K9_95071_16_0-B-001

6160 Agrotron ->WSXU190200LD10001

Section: A0 - TRACTOR Ref: A0.03.2 (1)
LUBRICANTS AND SEALANTS

Fig. P/n QTY Name

Notes:

[6160 Agrotron ->WSXU190200LD10001]

W

04414226 0.26 sealing compound HENKEL 211-342
4 04414225 genuine lubricants HENKEL 148785

1/1



K9_95071_17_0-B-001

6160 Agrotron ->WSXU190200LD10001

Section: A0 - TRACTOR Ref: A0.03.3 (1)
LUBRICANTS AND SEALANTS

Fig. P/n QTY Name

Notes:

[6160 Agrotron ->WSXU190200LD10001]

W

04414226 0.26 sealing compound HENKEL 211-342
4 04414225 genuine lubricants HENKEL 148785

1/1



q”

H 699 - DEUTZ KL 5A

57

K9_95071_02_0-C-001

6160 Agrotron -=>WSXU190200LD10001
Section: A0 - TRACTOR
LUBRICANTS AND SEALANTS

Ref: A0.03.4 (1)

Fig. P/n QTY Name

Notes:
[6160 Agrotron ->WSXU190200LD10001]

57 01016121 2 adhesive

1/1



Our support email:

ebooklibonline@outlook.com


https://www.ebooklibonline.com/downloads/deutz-fahr-6160-agrotron-tractor-parts-catalogue-manual-instant-download-sn-wsxu190200ld10001-and-up/



